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ECONOMICS

( Honours )

Paper : ECO-HC-5026

( pevelopment Economics—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10
ware FraTas R @I wReR PP Tel 391 :

(a) What is meant by below poverty line?
fw widwrer iR o @ 2

(b) Define democracy.
ST 5| fra |

. :
fc) Define the term ‘per capita income’.

TR e’ e fi |
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et s
(2)
(@) Whatis meant by income inequality?
o e T e
¢) Define incremcntal capital-output ratio
/ in the context of Harrod-Domar model.
55T IR A e Jere-CRAT
e @ il |
(7 Whatis the golden rule in Solow model?
e Sfe G A # 7
{g) Write one characteristic of the poor.
oA b1 G3e ford |
h) What is meant by technical progress?
e Bt e fe T ?
(i) Define natural growth rate.
Freiie R 297 s o |
() What is social institution?
s e & e 2
{x) ?cn;ion two alternative measures of
evelopment.
e 01 fem e T 40
A23/291
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(o)

(v)

(@)

(r)
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(3)

What is meant by absolute poverty?

594 wfagel o e e o

What is meant by endogenous growth?

wreral Rer e & @

Define a political institution.

BT AT S iee fg |

Mention a measure of growth to study
international variation.

R STESAE ARIE WMo WA IR F
51 5 TCEY P |

What is meant by vicious circle of
poverty?
wRweR “fene I & 392

What is the HDI rank of India in UNDP
Human Development Report, 2021-227

UNDPF a0 S afecaws, 2021-223 309
SReq YRR e e pe (HDDT ¥
e 2

What is steady state in Solow model?

5o s fufie s 2
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o A e
(4)
Angwer any five questions Very priefly : 2x5=10
Z.

& g e I of vq A

(a) What s meant by knife-edge
equilﬂ)rium?
- v e o T

fb) Define Gini coefficient.
o s e fomm |

Mention two differences between growth
and development.

R =% AT e o1 N TeAy 90|

(c)

(d) Give two reasons of relative poverty.

e waEer 1o 1 for |

fe) Mention two non-economic factors
which determine economic develop-
ment.
T w-adAfee e tmd e A
geftfes T FRd 3731

{f) Write two features of modern economic
growth.,

Wamﬁﬂﬂﬁﬁﬁmﬁ’ﬂ|

A23/291 ( Continued )

(5)

(g} Mention two differenceg between H
and Domar model of growth N

(TC HF TR [P wqfg .
qreq
Ty 401 T e
(h) Write two assumptions of Solow’s mode]
of long-run growth.
5o T [PT S1E9 701 wfSuman frat
i) Give two examples of government
failure.
5% RFerer 701 Sarzad firl |

() What is meant by disinvestment?

Rz i & @ ?

3. Answer any four of the following questions :
5x4=20

o PR R e Bk Ted o :

(a) Discuss any three problems of
measuring economic development.

QoA Twgm WoEE R @ A TP
A 47 |

(b) Briefly discuss the factors which
influence economic development of an
underdeveloped country.

G S (PR AT Savee ged RER
1 BT B9 SICEsA1 41 |
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(6) (7)
c) Write a note on inequality axioms. 4. Answer any four of the following questions -
10x4=40
v PP e vt e fr

e SRR SRS bt (BT foT |
(a) Explain the various alternative

(d) Justify per capita income as an index of
measures of economic development.

economic development. |
e S 7% Rt SR ST AT | oo S RISA R TR T <
mm <411 ‘
; (b) Discuss the international variations in
| per capita income (PCI) and human
development index (HDI) measures.

W{ﬁwwwmﬂqﬂ@mﬂaaﬁm

fe) Discuss the concept of economic

inequality.
ST FIHOR QAT HCeAs 31 |
@IS geen I 41
{1 Discuss the r‘1ced for balanced regional () Compare development trajectories
development in case of underdeveloped . . S1io th
countries across nations and within them.
. fooqe A DICAIRIS!
e A osge W e Sai LSRR
el A A | Al
_ (d) Explain the construction of the Human
(g) Write a short note on rural-urban Development Index.
economic gap. N
e gpa : . T e I A I |
52Am wAfen FEd ST bl 5
cora faer o (e) Discuss the conditions of steady growth
in the context of Solow model.
(h) Explain how democracy and economic e oI wyEe e Rer@ TR
growth are interlinked. HICeTeT P40 1
e e v e e wrsianfes, _
A @ | () Explain endogeneous growth theory.
wrerEA AP ©F 1M F90 |
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(9)

(h)

(8)

Discuss the main features of
Harrod-Domar model of growth.
@o-wTRe Rera fEGR §o [IFEPER

S{ICEToT <641 |

Explain the technique of Lorenz curve to
measure inequality.

PO A9 A I7T© &'[@8 @R @
RIISNIETIN

() Explain the role of State institutions in
economic development.
bIFA WP (PR SRS Siee S
IR A F41 |

() Discuss, in detail, the consequences of

corruption in the economy.

RUNUIESIN

* ok &
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